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Part A

Section Id : 92090699
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906158
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 9209064958 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

U TR 1 Ugehy A fAU gU Ul & IR difSe:

e FER o A4 & fFAR W a9 gon g, et ure dieT & SR urdl e 9s e &
F@e g9 SR &1 91 § S1%! uHl 3| & SR, A IS [Jud gene i g1 98l I
Yl BT HA-Td € 3R g T T R W 7 F FHIR TRl &1 57Tel JIed a1 g1 gt
[ gt Bt Wi femaft &1 Ard Siran g SfR a8l ¥ Si1dl 8 | @aA a1 SfedE S Hier wnd
@1 9gd U1 34 95318 W Ugdal ¢l Al U @ig & o SIgral &1 S-Sl 6 81 9llY
i 39 &9 ¥ Ffg-anfe wan wiw) gufo fafewr amrsy 3 srat Aifa® wfed sadi vea e ol &
for Sud gfan # o1g ot Ieufad 9s g H cade A o Il

Sub questions

Question Number : 1 Question Id : 9209064959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TERR A BT B |

(1)  HHEA S (2) THIA
(3) WETHEA (4) OIS
Options :

92090619601. 1
92090619602. 2
92090619603. 3
92090619604. 4

Question Number : 2 Question Id : 9209064960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 STl B A T AU §

(1)  HxgEl 3 dfdaat (2) 3T A&
(3) T P MBS == (@) W@ F TER
Options :

92090619605. 1
92090619606. 2
92090619607. 3
92090619608. 4

Question Number : 3 Question Id : 9209064961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffe-e 7a &F &1 a1 3 g

(1) &cdl #Hd oIl (2) TeA-TeE SRH gl
(3) YR-IREEA 4) TRPHR g oMl
Options :

92090619609. 1
92090619610. 2
92090619611. 3
92090619612. 4

Question Number : 4 Question Id : 9209064962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T B W A & fFIR T 82

(1) T 2 T
3 = (4) Twd
Options :

92090619613. 1
92090619614. 2
92090619615. 3
92090619616. 4

Question Number : 5 Question Id : 9209064963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafew e 3 st s wifda i 3o+t uaa &1

(1) @EAEFRETAD
(2) I3 dad W MHHU A FR b

(3) @38 IHIA A Ugdl A TS
(4) I3 IS FeTHl @1 AF-FH A1 AP T

Options :

92090619617. 1
92090619618. 2
92090619619. 3
92090619620. 4

Question Id : 9209064958 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

U TR 1 U A AU gU uyl & IR difSw:

W5 WeX o Fdl P BN IR 9 gl @, forde ure 9reT § SR Ml el 9% ac &
fAwe g9 ok 9 7 # 1wl UMt We & SR, d<A U [qud awewme ot g1 981 I
Yol TgTl SId-S1d ¢ SR g¥ A 48 W T 941 & FHUR HEa! &1 Siiel AleH gidl ¢ | Tl
gt 1 Wi sl &1 Are Srar € SR 98l ¥ Sf1dl g | da aYl SIeRdH ®I HieH |t
@1 9gd I 3! §e7e W Ugadl ¢| 3% U e & oY SIgTal &1 SAHI-SHT &< gl oy
39 & # anfe-anfe wan el gufem fafewr gmrs 3 oot Aifde ofdd safi uea e it 8
& Su gfmn § o1g oft veowfad 9Hs g o eade 8l o S|

Sub questions

Question Number : 1 Question Id : 9209064959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEPR AT B g |

(1)  HBEa S (2) THIA
(3) QRTHFEAT (4) oI B
Options :

92090619601. 1
92090619602. 2
92090619603. 3
92090619604. 4

Question Number : 2 Question Id : 9209064960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEE BT STd BE & T U

(1) Al S dfdaat (2) 3T A%
(3) TR B MHEP =™ (4) WEEl & 98R
Options :

92090619605. 1
92090619606. 2
92090619607. 3
92090619608. 4



Question Number : 3 Question Id : 9209064961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 7 9 &1 31 34 g

(1) ecdl Hd Sl (2) BT SRH gl
(3) YR-IREEA 4) TEPR H S
Options :

92090619609. 1
92090619610. 2
92090619611. 3
92090619612. 4

Question Number : 4 Question Id : 9209064962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1A I T8 & AR T 87

(1 M (2 TN
3) W™ (4) A
Options :

92090619613. 1
92090619614. 2
92090619615. 3
92090619616. 4

Question Number : 5 Question Id : 9209064963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafew wmrsg 3 st Aifas wifda o4t soit vaa o oz

(1) PRIGVETES
(2) &I e W ABHY 7 & TP

(3) ®IE 38 IHEA A 9gdl A IF
(4) D3 TS TGl B HH-STH 1 AP b

Options :

92090619617. 1
92090619618. 2
92090619619. 3
92090619620. 4

Sub-Section Number : 2
Sub-Section Id : 920906159
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o wreg, A fapsdt T/ &1 BT 1 §F1 U 91T | 38 1 F8d 87

(1) & () FdIm
(3) fagmor @ foa
Options :

92090619621. 1



92090619622. 2
92090619623. 3
92090619624. 4

Question Number : 6 Question Id : 9209064964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o7 wree A frdl ST &1 H T S U ST | I T Fed o7

(1 & (2 Fd9m
(3) fagmo @) fepmn
Options :

92090619621. 1
92090619622. 2
92090619623. 3
92090619624. 4

Question Number : 7 Question Id : 9209064965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed #§ § 319-91 U $RS g ]
A HaEY

B. A

C. @R

D. &

-

= 13y T fashedl A 9 el IR &1 = BT -

(1) &dd A B,D
(20 &dd D,AC
(3) &dd A BE

(4 &dd B, D,E

Options :

92090619625. 1
92090619626. 2
92090619627. 3
92090619628. 4

Question Number : 7 Question Id : 9209064965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafed # 9 $19-9H1 U RS [T 8
A HEY

B. A

C. 9R

D. &

E. @l

F4 13y M fasedl # 9 Wel IR &1 = B -

(1) dd A B,D
(2) @dd D, A, C
(3) dd A BE

(4 ®dd B, D,E

Options :

92090619625. 1
92090619626. 2
92090619627. 3
92090619628. 4

Question Number : 8 Question Id : 9209064966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufdamr 9eg & Il g1

(1) &0l 2 U
3 W@ @ o
Options :

92090619629. 1
92090619630. 2
92090619631. 3
92090619632. 4

Question Number : 8 Question Id : 9209064966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufae 2reg H 39 ¢

(1) &m @ ™
(3) W @ T
Options :

92090619629. 1
92090619630. 2
92090619631. 3
92090619632. 4

Question Number : 9 Question Id : 9209064967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 Ty gl 1 D1 e i

- @1 1 (37
@) TEAEATEEA (1) S E
(8) TE (1) V=T A
(€ SRR IGAT () Tgd IRYH HAT
(D) TR &I Edl (V) WS Y BT

19 fau e faweul & ¥ Hgl I &1 994 SHifoe:

(1) (A0, B)-(1), (C)-(), (D)-(IV)
(2)  (A)-(V), (B)-(I), (C)-(11), (D)-(1)
() A-0. B)-(n, (O-(1), (D)-(V)
(4) (A)-(l), (B)-(I1), (C)-(1V), (D)-(1)
Options :

92090619633. 1

92090619634. 2

92090619635. 3
92090619636. 4

Question Number : 9 Question Id : 9209064967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
| F Yy =l | & e S

- @1 1 (37
@) TEAEATEEA (1) S E
(8) TE (1) =T A
(€ SRR IGAT () Tgd IRYH HAT
(D) TR &I Edl (V) WS Y BT

19 fau e faweul & ¥ Hgl I &1 994 SHifoe:

(1) (A)-(m), (B)-(1), (C)-(I), (D)-(IV)
(2)  (A-(V), (B)-(II), (C)-(). (D)-(1)
() (A-. B)-(), (©)-(ln), (D)-(IV)
@) (A-(m, (B)-(1), (©)-(v), (D)-(I)

Options :

92090619633. 1
92090619634. 2
92090619635. 3
92090619636. 4

Question Number : 10 Question Id : 9209064968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSl AR dc aHTel’ B PR gl

(1) =9 (2 THE®
(3)  SifazmgiEa (4) SIU™
Options :

92090619637. 1
92090619638. 2
92090619639. 3



92090619640. 4

Question Number : 10 Question Id : 9209064968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSN TEaR d¢ qHd’ H AR 8

G () THS
(3)  ffoumifE (4) SfIU™
Options :

92090619637. 1
92090619638. 2
92090619639. 3
92090619640. 4

Question Number : 11 Question Id : 9209064969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTIRU 3479 R 6 % % At &1 a3 A foba) aul & $1g A w9 &1 S 8 st 2

(1 8 (2) 16
3 20 4 5
Options :

92090619641. 1
92090619642. 2
92090619643. 3
92090619644. 4

Question Number : 11 Question Id : 9209064969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LR &1 W 6 ¥ % dlites B a3 | b asil & Hig A W@ &1 S g s 2

() 8 (2) 16
(3 20 4 5
Options :

92090619641. 1
92090619642. 2
92090619643. 3
92090619644. 4

Question Number : 12 Question Id : 9209064970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qid 3 cot 0 =14 %,?ﬁsinzﬂ-cnsfe+tanﬁfﬂqﬂﬁl

57 47
(1) 100 (2) 100
16 9
3 — ¥ A e
(3) 35 4) 35
Options :

92090619645. 1
92090619646. 2
92090619647. 3



92090619648. 4

Question Number : 12 Question Id : 9209064970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 3 cot 0 =14 %’,E_!!lsinza-cnsfe+tanﬁaﬂqﬂﬁl

57 47
(1) 100 (2) 100
16 9
3 — Ay 2
(3) 35 4) 55
Options :
92090619645. 1
92090619646. 2
92090619647. 3
920906196438. 4

Question Number : 13 Question Id : 9209064971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR 9 10% @Y W U ST 2 1,100 § TU1 15% TH W TP oiide 2 11,500 H &=1
IUH1 Pl A Ufawrd g1

5 7
220 Lo,
M 12=% @ 13;%
EU 10/
@) M-% @ 1B5%

Options :

92090619649. 1
92090619650. 2
92090619651. 3
92090619652 4

Question Number : 13 Question Id : 9209064971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A 10% @Y U Udh 30T 2 1,100 ¥ dUT 15% @H W UH cdiida 11,500 § 411
IUH1 Pl A ufewrd g1
7

5
) 12=% 2) 13-%
M Thaa (2) T

6 5
3  14—% 4) 13=%
@) n" S S

Options :

92090619649. 1
92090619650. 2
92090619651. 3
92090619652. 4

Question Number : 14 Question Id : 9209064972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 R 10t 4T & U 319 SfeTidl &1 forgan & It snyR Bsan R 919 9 &1 & f&ar
i SHUSR g7 TP Bl Hd1s R 8, ol H SR R G/ g

(1) H=2R (2) H=§R

(3) H=4BR @) H=3R

Options :

92090619653. 1
92090619654. 2
92090619655. 3
92090619656. 4

Question Number : 14 Question Id : 9209064972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 R 10t T & US B9 Sfeidl &1 fireran &7 It SR B R 919 9 &1 % &g
I U UPR &1 UF B HaE R ¢, A H 3R R A T=H §

(1) H=2R @) H:%R
(3) H=4fBR @ H=3R

Options :

92090619653. 1
92090619654. 2
92090619655. 3
92090619656. 4

Question Number : 15 Question Id : 9209064973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tyl ufdfer s it s e fpfi e s AT R Tpa § | S e S 10 A |
B P o R fbar SR 3meH] &1 R @A & sawedl § dfe Ud® sieH! ufafed 10

2 BT 1 82

(m 1 2 2

(3) 3 4) 4
Options :

92090619657. 1
92090619658. 2
92090619659. 3
92090619660. 4

Question Number : 15 Question Id : 9209064973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el fers e M as Pl e Hl s AT usa § I S e s 10fa |
H F o iR fpam SR 3 &1 R IR & srawedl ¢ dfe ud® sneHt ufafed 10

He SHTH 1 27

Gy = 2 2

(3) 3 4 4
Options :

92090619657. 1



92090619658. 2
92090619659. 3
92090619660. 4

Question Number : 16 Question Id : 9209064974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Higdl & AR 3f1d $d gU GHT A el g8 7 <1l W B gHald! Hard B G e I

wigen &1 gira 9 &1 e €2

(1) W™ () e
(3) @) &
Options :

92090619661. 1
92090619662. 2
92090619663. 3
92090619664. 4

Question Number : 16 Question Id : 9209064974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Aied & R A $d §¢ Gia A Fel “dg B3 ! 0T 31 SdHardl I 31 G 8- 39

wigen &1 gta 9 &1 R=ar €2

(1) W™ () e
(3) @) &
Options :

92090619661. 1
92090619662. 2
92090619663. 3
92090619664. 4

Question Number : 17 Question Id : 9209064975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P4t t HT H MOTHER &1 QDGSNL el Si1el 8, 74 TIGER fb e # feran smam?

(1) SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090619665. 1
92090619666. 2
92090619667. 3
92090619668. 4

Question Number : 17 Question Id : 9209064975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l U P H MOTHER &1 QDGSNL oIl SITdT 8, dd TIGER ooy e o feran s

(1) SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST

Options :



92090619665. 1
92090619666. 2
92090619667. 3
92090619668. 4

Question Number : 18 Question Id : 9209064976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Pl & T & 3 dod HH A JHouayd 3 W TS 6912345 H v oidl 31 R

Sufafda wft |

(1  =H 2) T&s
3 @ dH
Options :

92090619669. 1
92090619670. 2
92090619671. 3
92090619672. 4

Question Number : 18 Question Id : 9209064976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3] & B & 3R dod HH H JHodaeyd H34 TR B 6912345 H foba sfal @1 fufa

s{ufafda & |

m A (2) 4P
@ @ @ d=
Options :

92090619669. 1
92090619670. 2
92090619671. 3
92090619672. 4

Question Number : 19 Question Id : 9209064977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B U a6 TOgd db ¢ 3R BH I HHAGR ad § 3419 Fofg aX:

BYT . FHRA P EH &1 g srRig el &1 way s iR
@ | : oifgl, 9 @1 Aeraet® -ifd 1 witd 8 Ugd &9 S1 TSI TS ARl ¢ |
T 11 : 8T, o AT 21 39T TR e B |

IRIH S F e 7, A 3w 1 faswed! # 9 98! Savd 904 Fifew:

(1) Haddd | H9€d §

2) Haddd | HolEd §

(3) WA ad | 91 ddh | Aoled &

4 AdTH I MRATWIH I TSI §

Options :

92090619673. 1
92090619674. 2
92090619675. 3
92090619676. 4



Question Number : 19 Question Id : 9209064977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HF 1 dh Hogd db' ¢ AR S H HHGR ad’ g 19 Folg H:

HY ;T HRA S E B A SRIT Al &1y S A
aF | Sitel =9 @1 faermers fifd &t mi 3 ugd 1 ST A us A € |
b 11 : g1, 39 Afdaamaa 3= 3heT gAY 98 a3 |

IR S F 3fieiies #, A9 13U g fassedl # 4 981 I Ia4 Fifow:

(1) Faadd I ASed 8

2) Fadad Il HolEgd 8

(3) WA TaE | Ul I Wl §

@ Addh I ARAT T dD | A §

Options :

92090619673. 1
92090619674 2
92090619675. 3
92090619676. 4

Question Number : 20 Question Id : 9209064978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Pl g4 oifep o & i &:

M F H | D

M (@ (2 (b)
3 ( (4) (d)

Options :

92090619677. 1
92090619678. 2
92090619679. 3
92090619680. 4

Question Number : 20 Question Id : 9209064978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g4 oiifep o & i &:

(@) (b) (@ (d)

m (@ (2) (b)
3 (0 @ (d

Options :

92090619677. 1
92090619678. 2
92090619679. 3
92090619680. 4

Question Number : 21 Question Id : 9209064979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e § S U1 gEgl Uler U4 g1 g § YRl uyF T g Hidl grRy Iguied fbar

87

(1) TEUER 94 (2) SES urer HaF
(3) PRSTUR 99 (4) HEIGY UER U
Options :

92090619681. 1
92090619682. 2
92090619683. 3
92090619684. 4

Question Number : 21 Question Id : 9209064979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁmﬁaﬁ#maﬁ@wwwaﬁﬁuﬂ?ﬁuﬂuﬂﬁaﬁm%mmﬁmw
?

(1) TR 9gd (2) PSS UreR H4
(3) DS U ¥4 (4) WEleg UaR 943
Options :

92090619681. 1
92090619682. 2
92090619683. 3
92090619684. 4

Question Number : 22 Question Id : 9209064980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Gl | & A1y gl 11 &1 fEeE S

EGIRNGE)) Tl -1l (i)
(A) TSHMT YRT () T U, &9 IR W, Fd ited g
(B) E9E YRI ) T e ) Fa siiteg o9y
(€ IS YRT () T Wifterdl U= e SHftie o &
(D) WTYH® °gRT (V) T WIite, $a IR R &1 &1 YaaH
R Gl 3fifere g
1 feu U fasedt # ¥ gl I &1 994 DI

(1) (A=), (B)-(IN), (C)-(1), (D)-(IV)
(2) (A=), (B)-(IN), (C)-(1v), (D)-(111)
(3)  (A)-(Iv), (B)-(11), (C)-(1N), (D)-(1)
@ (A)-0v), (B)-(1D), (O-(1), (D)-(1)

Options :

92090619685. 1

92090619686. 2

92090619687. 3

92090619688. 4

Question Number : 22 Question Id : 9209064980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& |1 S | g 1 1 faE i

- () T -1 (a0
(A) ITSHIE YR () P e, $HIUN |, Fa e g
() WG URI (1) T e R $a siteg o9y
(€ TS 4RI (1) ITeTed Uit UR Fd SHfe ToRd o
(D) WIYH® 9T (V) Fd Wi, $a IR SR & &1 YadaF
TR G A g

19 fGu u fasedl & @ |el IR &1 994 Bifers:

(1) (A=), (B)-(IN), (C)-(1l1), (D)-(IV)
2 (A)-(). (B)-(, (C)-(1v), (D)-(1)
(3)  (A)-(v), (B)-(11), (C)-(1), (D)-(1)
@ (A-0V), (B)-(11), (O)-(1). (D)-(1)

Options :

92090619685. 1

92090619686. 2

92090619687. 3

92090619688. 4

Question Number : 23 Question Id : 9209064981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIHg T A e de H ¥ Ue W g5 |

(1)  THEA - Oae (2) gdt - el Oge
(3) - 3T dae (4) ik - AZHA U
Options :

92090619689. 1



92090619690. 2
92090619691. 3
92090619692. 4

Question Number : 23 Question Id : 9209064981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Tl Bl e ded A ¥ U W Es |

(1)  THYA -} Uae (2) gdt - el Oge
(3) - i dee (4) ek - WA U
Options :

92090619689. 1
92090619690. 2
92090619691. 3
92090619692. 4

Question Number : 24 Question Id : 9209064982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 21 Py RU U §: U SfipYT A B FY A ffGd e I I SUS PRURFFUN, E |
AMFYF A . A H g B U FFRU TG H AR F I A K SR 2 |
HRUIR : Y 3Tl 1 SR I T F e T Z AN 2 |

JURIE HYF b et H, 93U M0 fawedi § 9 Tl 3ugad Ik &1 994 Dol
(1) ASRRTF G & R R A D Ug ARAT &

(2) ASRREH TA € Al R, A B Gl AR 8l &

(3) AWUGE APARETE

(4) ATAG, APTRITE

Options :

92090619693. 1

92090619694. 2

92090619695. 3
92090619696. 4

Question Number : 24 Question Id : 9209064982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIFFARTNE & HFF AT ET A R@Ae N TR TP PRURF EAH, £ |
HBUT A © g H sl P IR F PRU TG H aF F I A g St 8 |

BRUIR : T H e F U AT F e T IS e 2 |

JRIE YT & 3Meite H, 9 3T e faeedi #§ § w8 Iuged IR &1 994 Difog

(1) ASRRIF THE AR AP Gl AT &

@2 ASIRRIH TA E, AfF R, A B WE @ ET &
3) ATIE, AR FAT

@ ANUIE AfFTRITAE

Options :
92090619693. 1
92090619694. 2



92090619695. 3
92090619696. 4

Question Number : 25 Question Id : 9209064983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAFARUNE & AMFA AT EU ¥ 8 § 0 g8 IS SRUR B EUH, §
HUBYT A : R B WAUH TP ddial WiaHH g
FRUIR: Tg Afdad geryd USRI S Juasd $dl ¢
SRIFd HYA & 31D |, A9 130 M0 fasedl # 9 98 Iuged I &1 944 Hifore
(1)  ASRREF T E AR R, A DI U6 ASAT &
) AdRRIATIE AFR, A B U TR TE B
(3) ATIE AMBFARFTAT
4) ASUYE AfPIRTTT
Options :
92090619697. 1
92090619698. 2

92090619699. 3
92090619700. 4

Question Number : 25 Question Id : 9209064983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRFFFRTWE & AFF AT EY T a8 d g TS SRUR B FH §
ANFUA ©  HRA BT AAUH TP adial SiauH §

FRUIR: Tg Afdad Jeyd SERI S Juas Hdl ¢

TR YT & el A, 919 3y e o el # 3 98 I9ge I &1 997 Fifon

(1)  ASRREH A€ AR R, A DI Yel AT €

2) A SRR IE A E AfFTR, A B e e TE B

(3) ATUE AFPIRITAE
4 A3TIE APFTRITE

Options :

92090619697. 1
92090619698. 2
92090619699. 3
92090619700. 4

Part B: Chemistry

Section Id : 920906100
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 920906160
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209064984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : The structure of XeF,; is distorted octahedron.
Reasons (R) : The molecular orbital approach predicts correct structure of Xel.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 18 correct

Options :

92090619701. 1
92090619702. 2
92090619703. 3
92090619704. 4

Question Number : 26 Question Id : 9209064984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g %o fou Mo # : oF WY (Assertion (A) F ¥7 1 fafad 2 @1 g1 35F FAW (Reasons
R)FFIH:

FARE (A) XeF, 1 fod sT=wehm o= 2

R (R) wTfoas e Aied XeF, &1 98 5091 &1 TiEem F 21
TR FYA & A 4, A= fgu 7 fowmeti § 4 796 IR I H 99 i

(1)  (A) 3R (R) SH1 741 § 37 (R), (A) i 761 =amen &

@ (A SR TH TE E SR R), (A) FFE = T R
@ (A= 2, 9 (R) 56 T4 2

(4) (A =E T R, S (R) wE R

Options :

92090619701. 1
92090619702. 2
92090619703. 3
92090619704. 4

Question Number : 27 Question Id : 9209064985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The partial molar Gibbs free energy for an ideal gas is given by the expression
(1) o, = (T)+ Rl Inx, 2) u=u(T)+RTInp

(3) &, = u;(pure) + RTInx, (4)  u = u(pure)+RTInp



Options :

92090619705. 1
92090619706. 2
92090619707. 3
92090619708. 4

Question Number : 27 Question Id : 9209064985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s e o & fou anfems dren fres gom et =6t feees gra sifirsrea e a7

(1) 2 = 1:(T)+ RTInx; (2) 4= (T)+RTInp
(3) ;= 1 (I8 + RTIn x; (1) 4= FTE+RTInp
Options :

92090619705. 1
92090619706. 2
92090619707. 3
92090619708. 4

Question Number : 28 Question Id : 9209064986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following structure will show the o (C—H)- r hyperconjugation?

. /Y\ . \
3) N\ ) W

Options :

92090619709. 1
92090619710. 2
92090619711. 3
92090619712. 4

Question Number : 28 Question Id : 9209064986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & & =9 Ft F=7 0 (C- H) - 7 Afawa #1 wefiia w7

(1) (2)
z N
3) (l\/\ (4) N 4©)

Options :

92090619709. 1
92090619710. 2
92090619711. 3



92090619712. 4

Question Number : 29 Question Id : 9209064987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The value of Madelung constant is determined by the geometry of the
crystal lattice and 1s independent of 1onic radius.
Statement 1T : The Born exponent depends on the type of ion involved in Born Lande

equation.

In the light of the above statements, choose the mos! appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement 1 and Statement IT are incorrect
(3) Statement I 18 correct but Statement I1 18 incorrect
(4) Statement I 18 incorrect but Statement I1 is correct

Options :

92090619713. 1
92090619714. 2
92090619715. 3
92090619716. 4

Question Number : 29 Question Id : 9209064987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fesiwEfammE.

w 1:  Hvsfem = & oA e 9o i =it g Fatfm G s 2 @ B amefes
for=m 3

FeH I FH WS 9 s e 1 afifeg e F TR W R o
TR FUH F A 4, = fou 7o fawmedi § 8 556 I I H 99 S0

(1) 49 130 [IEH 5
(20 U 13 1A w8 #
(3) A 19 &, o w1 3@ 2
(4) FHlyEEe A s IlagE
Options :
92090619713. 1
92090619714. 2

92090619715. 3
92090619716. 4

Question Number : 30 Question Id : 9209064988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List IT
(A) Cubic O a==90° y=120°
(B) Hexagonal Iy a=zp#y=90°
(C) Monochinic dl) a=pf=y=90"
(D) Triclinic (IV) a=8=90" y 290"

Choose the correct answer from the options given below :

(1 (A, (B)-(ID, (C)-(11D), (D)-(IV)
2y (A-dID, B-O, (O)-1V), (D)-ID)
3 (A)-aD, (B)-(D, (C)-(IID), (D)-(IV)
4y (A)-aID, (B)-D), (C)-(1), (D)-(IV)

Options :

92090619717. 1
92090619718. 2
92090619719. 3
92090619720. 4

Question Number : 30 Question Id : 9209064988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feft-1 % @ gefi-11 1 faerm Hifsm
g1 -1
A) M a=8=90,y=120
(B) Wl ) a#=pf=y=90
(C)y TImE () a=pf=y=90
(D) Frrma (V) a=f=90, y#90°

Frr feu o foredl ® & o 3 1 =9w Hifa

(1) (A)-(D. (B)-(I1), (C)-(I1D), (D)-(IV)
(2) (A)-(IID), (B)-(I), (C)-(IV), (D)-(ID)
(3) (A)-(I). (B)-(1). (C)-(I1D). (D)-(IV)
(4) (A)-(I11), (B)-(D, (C)-(ID), (D)}-(IV)

Options :

92090619717. 1
92090619718. 2
92090619719. 3
92090619720. 4

Question Number : 31 Question Id : 9209064989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Interhalogens are more reactive than halogens.
Reasons (R) : The central atom in interhalogens is always more electronegative halogen

atom.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3 (A) 18 correct but (R) 15 not correct

(4) (A) is not correct but (B) is correct

Options :

92090619721. 1
92090619722. 2
92090619723. 3
92090619724 4

Question Number : 31 Question Id : 9209064989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fi=t gt wem fou 0 F - v afirEuA (Assertion (A) % ®v # fefiea 2 91 g90 389% F0 (Reasons
(R) % ®9 4 :

Ffpya (A): SiauRerEa gelied @ sty feamiie g6 81
HA (R) : AR FT AR WH Felen # g st faemeft €0 3

I FOF F A o, 9 fou m famedt 8 ¥ oed 3ugw 3w ow = dif

() ()R ®) I 8 2 3 ®), &) F of =mEn 2

@ @3 ER) I @ E R R), Q) ad =Ten 1@ R
(3 (A @ e, e R) T R

@ A uE e, A R R

Options :

92090619721. 1
92090619722.2
92090619723. 3
92090619724. 4

Question Number : 32 Question Id : 9209064990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A) © Pyrrole is less basic than pyridine.
Reasons (R) : Lone pair of electrons on N-atom are delocalised to the ring in the case of

pyrrole.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A} 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
92090619725. 1
92090619726. 2
92090619727. 3
92090619728. 4

Question Number : 32 Question Id : 9209064990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g %o fqu ™ E v W (Assertion (A)) F ¥ § fAfEd & 91 980 396 FM0 (Reasons
RO FEIH :

A (A) ;e TEE & w0 g B
A (R) : g % Hed # N WHY T Uk SoEg W 9o A i 2 A

ITAF HYA ® A 4, A= oy T faweni # | w=8 39w W = =9 fifan

(1)  (A) ¥R (R) gH1 94 § 3 (R), (A) Fi 961 =amen &

2 (A) 3 (R) I wE E, S (R), (A) 1 FE e A R
(3) (A FE R, S (R) 7 T R

@ (AT T R R @ Fh R

Options :

92090619725. 1
92090619726. 2
92090619727. 3
92090619728. 4

Question Number : 33 Question Id : 9209064991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can act as electrophile?
(1)  SiF, 2 oo,
(@ CH, (4 NH;
Options :
92090619729. 1
92090619730. 2

92090619731. 3
92090619732. 4



Question Number : 33 Question Id : 9209064991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f= 8§ #9 & goee it i TE T gk B

(1)  SiF, (2) Ccl,
3 CH, (4) NH,
Options :

92090619729.
92090619730.
92090619731.
92090619732.

B W N =

Question Number : 34 Question Id : 9209064992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).
Asgertion (A) ¢ Ammonium nitrate is used as a salt bridge.
Reasons (R) ¢ In ammonium nitrate {, ={_

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct
(4) {A) 18 not correct but (R) 18 correct
Options :
92090619733. 1
92090619734. 2

92090619735. 3
92090619736. 4

Question Number : 34 Question Id : 9209064992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1 21 Fa fou o E ¢ uF s (Assertion (A) % ¥ § fofigd R @1 790 9% FHEW (Reasons
R FETH:

HHI (A):  FHIEH EgZ @AW Hq I TE G B A

%A (R) - St AR o, =1

I F F A §, A feu e fameat § & o IR o = fifa

(1) (A) ¥ (R) g 70 § 3R (R), (A) F1 961 =7 &
@) () SR) T EF 8, Al (R), (A) F @ e T R
@) (A)FF 7, | (R) 35 2
@) (A ¥EE R, T (R A &
Options :
92090619733. 1

92090619734. 2
92090619735. 3



92090619736. 4

Question Number : 35 Question Id : 9209064993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solubility of alkaline earth metal sulphates in water decrease in the order
BeS0, > MgS80, = CaS80, = 5r30, > BaS0, . This is because

(A) Hydration energy increases down the group

(B) The rate of decrease of hydration energy is higher than the rate of decrease of lattice
energy

(C) Lattice energy increases down the group
() Hydration energy of Be® and Mg®" are very high

(E) Covaleney is increasing down the group

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (B) only

(3 (B) and (D) only

4 (E)only

Options :

92090619737. 1
92090619738. 2
92090619739. 3
92090619740. 4

Question Number : 35 Question Id : 9209064993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT &1 9] Hehel ol 9el 1 facraal 1 Teal 5 FH &
BeSO, = MgS0, > CaS80, = 5r30, > BaS0,

T FAW B
(A) e wE A i A wH W =

(B)  SioraieE Sl 1 =2 i Ao Sl % 9o i 2 F =e B 2
(C)  =ieis &= a1 8 Ji= 9H W g g
(D)  Be® T Mg® & Fe@ied Fofl 987 3= 2l 2

(E)  darsehar o § 919 99 W "2 2

9 fou o el | 9 wE I w994 i

(1)  =a (A) 74 (C)

(2) #ad (B)

(3) A (B) 791 (D)

@) %= (E)
Options :
92090619737. 1
92090619738. 2
92090619739. 3
92090619740. 4

Question Number : 36 Question Id : 9209064994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the weakest chemical force?

(1) Ion induced dipole interaction (2) Dipole induced dipole interaction
(3) Dipole-dipole interaction (4)  Ion-dipole interaction
Options :

92090619741. 1
92090619742. 2
92090619743. 3
92090619744. 4

Question Number : 36 Question Id : 9209064994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 & & # m geferan o ae 27
(1)  ¥mA i fage s fen (2 fays ¥i@ foge smm fen
3  feya-feys s fmen (4) sm-faye s G

Options :

92090619741. 1
92090619742. 2
92090619743. 3
92090619744. 4

Question Number : 37 Question Id : 9209064995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the collision diameter of H, gas is s’ m and the collision frequency is Zy, , what will be

the collision frequency of O, gas (Z,,) if its collision diameter is *2x™?

(1 zu._, :zr:: (2) ZH: = 32(;:
(3) Ly, =472, (4) 22y, =Z,,
Options :

92090619745. 1
92090619746. 2
92090619747. 3
92090619748. 4

Question Number : 37 Question Id : 9209064995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qfe H, 1 HueZ =6 ' m qU1 HULZ A Zy # O, i WEE A F1 B Afe g vEee =

2’ B7

n Zy, =14, (2) By, =272,

(3 Zy, =4Z,, 4) 27, =%,
Options :

92090619745. 1
92090619746. 2
92090619747. 3
92090619748. 4

Question Number : 38 Question Id : 9209064996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the relation between the following pair of compounds?

COOH COOH
H;
.COOH
H Br
H "‘Br
Br - ———H
Br
COOH
(1) Enantiomers (2) Homomers
(3 Identical (4) Diastereomers
Options :

92090619749. 1
92090619750. 2
92090619751. 3
92090619752. 4

Question Number : 38 Question Id : 9209064996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrefefiaa Sifiei % oqg % == 77 gag 27
COOH
COOH
H —— Br : .COOH
Br- ——H H "Br
Br
COOH
(1)  wfsféds =q (2) FER
(3) =wEd (1) sufafaa =u (eefewm)
Options :

92090619749. 1
92090619750. 2
92090619751. 3
92090619752. 4

Question Number : 39 Question Id : 9209064997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a nucleophilic substitution reaction is carried out in DMSO, which of the following act
as strongest nucleophile?

(S]

(1)  CH,COZ (2 o

(3) | (4) CH,0

Options :

92090619753. 1
92090619754. 2
92090619755. 3
92090619756. 4



Question Number : 39 Question Id : 9209064997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w= T i sfufrn DMSO # & 8, = 8 SR-m vaean e i e e
H B

@  cHCco® @ Cr
@ T (4) CH,O

Options :

92090619753. 1
92090619754. 2
92090619755. 3
92090619756. 4

Question Number : 40 Question Id : 9209064998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following compounds will show the least C — O stretching frequency?

(1) [Fe(CO), I (2) [Co(CO), ]
(3) [Mn{CO)]" (4) [Cr(CO))
Options :

92090619757. 1
92090619758. 2
92090619759. 3
92090619760. 4

Question Number : 40 Question Id : 9209064998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=r § & i & ditfirs § © — O &9 e = 27

(1) [Fe(CO), 1" (2)  [Co(CO),]
(3) [Mn(CO),]* (4)  [Cr(CO);]
Options :

92090619757. 1
92090619758. 2
92090619759. 3
92090619760. 4

Question Number : 41 Question Id : 9209064999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Predict the correct major product in the following reaction.

Et
r“”””(}H +50C, ————»
Me H
Et
(1) i (2) n-Butane
rrij”” H
Et
(3) ”'””H cl (4 CH,-CH=CH-CH,
Me -

Options :

92090619761.
92090619762.
92090619763.
92090619764.

B R S R

Question Number : 41 Question Id : 9209064999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafiaa sifufen 8§ ot ger s =g

Et

i +80C, —— =
o

Me H
Et
(1) (2) n-Butane
HJH”” H
Me Cl
Et
(3) "Jf””” al (4p CH,-CH=CH-CH,
Me H
Options :

92090619761. 1
92090619762. 2
92090619763. 3
92090619764. 4

Question Number : 42 Question Id : 9209065000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Postulates of collision theory are

(A) Particles must collide with proper energy
(B) Colliding particles must be of proper size
(C) Colliding particles must have proper orientation

(D) Colliding particles must be unreactive to atmosphere

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (A), (B) and (D) only
(3) (A) and (C) only
(4) (B). (C) and (D) only

Options :

92090619765. 1
92090619766. 2
92090619767. 3
92090619768. 4

Question Number : 42 Question Id : 9209065000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Haze faga % 39w 7 &

(A) T ITFE FA1 6 A1Y HUZE FA a0

(B)  Fage § s w1 IgE SR & 9

(C)  Hage # s 1 IwgE o= g =)

(D) Hgge H FW F aEEw | S we 9w

49 feu mu fasedi 0 & o I w1 994 i
(1)  Fad (A) 791 (B)
(2)  HEA (A), (B) 791 (D)
3y Fad (A) 7= (C)
(4 a4 (B), (C) 741 (D)
Options :
92090619765. 1
92090619766. 2

92090619767. 3
92090619768. 4

Question Number : 43 Question Id : 9209065001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The orbital angular momentum of an electron in 285 orbital is

1.:h

(1) + o (2) =zero
1 h h
3 - A s
@ 2 2 “ 27
Options :

92090619769. 1
92090619770. 2
92090619771. 3
92090619772. 4



Question Number : 43 Question Id : 9209065001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

28 T H T IoagH 1 Hedid R g

1 h

1 h h
3 e 49 —
©) 2 2r ) 2

Options :

92090619769. 1
92090619770. 2
92090619771. 3
92090619772. 4

Question Number : 44 Question Id : 9209065002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the oxygen carrier and metal are found in arthropods and molluscs?

(1) Heamocyanin and Cu (2) Heamocyanin and Fe
(3) Heamerythrins and Cu (4)  Heamerythrins and Zn
Options :

92090619773. 1
92090619774. 2
92090619775. 3
92090619776. 4

Question Number : 44 Question Id : 9209065002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HigaTg T FEAT § FH W SR DTEh 797 91 TE T 87

(1) EHEEtE a9 Cu (2) FWEERA 797 Fe
(%)  EmEydE 9 Cu (4) FmErEdE 79 Zn
Options :

92090619773. 1
92090619774. 2
92090619775. 3
92090619776. 4

Question Number : 45 Question Id : 9209065003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Predict the major product in the following reaction

(CH,),C-Br+C,H.OO —
()  (CH,),C-OC,H, (2) (CH,),C-OH
(3 (CH,),C=CH, () (CH,),C-0CH,

Options :

92090619777. 1
92090619778. 2
92090619779. 3
92090619780. 4



Question Number : 45 Question Id : 9209065003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefertiaa sfafen § 7@ Ioag AET-a hifau)

(CH,),C—Br+C,H,O —
(1) (CH,),C-0C,H; (2) (CH,),C-OH
(3) (CH,),C=CH, (49) (CH,);C-0CH,

Options :

92090619777 1
92090619778. 2
92090619779. 3
92090619780. 4

Question Number : 46 Question Id : 9209065004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A capillary tube of radius 0.105 mm is dipped into a liquid whose density is 0.79 gem3. The
liquid rises in this capillary to a height of 6.30 ¢m. Calculate the surface tension of the liquid
(g = 980 cm sec™)

(1) 25.6 dynes em™! (2) 51.2 dynes cm!
(3 12 8 dynes em™! (4)  20.6 dynes cm!

Options :

92090619781. 1
92090619782. 2
92090619783. 3
92090619784 4

Question Number : 46 Question Id : 9209065004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.105 mm = &1 S A6l 6.30 cm 9903 a6t 79 ° 39 g 2198 HE A 0.79 g em i FEE
% 7d =g | 73 % J= 791" $ AT FIFU) (g = 980 cm sec?)

(1) 25.6 =@ a9 () 51.2 % &
(@  128TEwEE (4)  20.6 =rEH 6

Options :

92090619781. 1
92090619782. 2
92090619783. 3
92090619784. 4

Question Number : 47 Question Id : 9209065005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers for complex [MA,B,C,] is

(1) Three (2) Four
(3) Five (4) Six
Options :

92090619785. 1
92090619786. 2
92090619787. 3
92090619788. 4



Question Number : 47 Question Id : 9209065005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[MA,B,C,] §%a & fou sarfid swagad $1 5@ 2

(1) &= 2y =W
3 T 4 =
Options :

92090619785. 1
92090619786. 2
92090619787. 3
92090619788. 4

Question Number : 48 Question Id : 9209065006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Predict the correct product (s) in the following reaction

Br e
NH,
NaNH,, NH, @[
e i
" OCH.
ocH, OCH, 3
I IT
(1) Only I (2) OnlyII
(3 Both I and 1T (4) Neither I nor IT

Options :

92090619789. 1
92090619790. 2
92090619791. 3
92090619792 4

Question Number : 48 Question Id : 9209065006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trfefan sifufwa ¥ g6 3 aaEu)
Br NH,
NH,
NaNH,, NH, @[
: OCH,

OCH, OCH, a
U) jﬁa I u} éﬂ(_—[ T
@  EHiIEE I @) TITAI

Options :

92090619789. 1
92090619790. 2
92090619791. 3
92090619792. 4

Question Number : 49 Question Id : 9209065007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Predict the correct major product(s) in the following reaction.

NO: ¢ NO,
0.N-CH=CH, +HCl ——— ( Y
1
I I

(1) Only I as major (2) Only II as major
(3) Both I and II in equal amounts {(4) Neither I nor II
Options :

92090619793. 1
92090619794. 2
92090619795. 3
92090619796. 4

Question Number : 49 Question Id : 9209065007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfefiaa sfufieen 8§ ge seare =ame

NO, (] NO,
O,N-CH=CH, +HCl — (

Cl

I |
(1) Faa 9= 8 (2) I 1 g7 2
(3) g Ay I 9 v 5 2 4@ MIqEI

Options :

92090619793. 1
92090619794. 2
92090619795. 3
92090619796. 4

Question Number : 50 Question Id : 9209065008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two equal and opposite charges i.e. +q=1.6x10""C are separated by a distance of 0.25 nm.
Compute the dipole moment in D.

(1) 1.1994 D (2) 11.994D
(3) 4= 102D (49 4D

Options :

92090619797. 1
92090619798. 2
92090619799. 3
92090619800. 4

Question Number : 50 Question Id : 9209065008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ANE A1 il SEE, +q=1.6x107YC, 0.25 nm $ g0 @ s=w # fagg smt (frd (D) #)

qitsrlem =hifau)
(1) 1.1994 feamg ) 11.004 fE=rg
(3)  4x 102 fear (4) 4feam

Options :



92090619797. 1
92090619798. 2
92090619799. 3
92090619800. 4

Question Number : 51 Question Id : 9209065009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Huckel's rule which of the following is not aromatic?

+

A U //\_\

I I II v
(1) I (2) I
(3) I 4 IV

Options :

92090619801. 1
92090619802. 2
92090619803. 3
92090619804. 4

Question Number : 51 Question Id : 9209065009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&t fram % sEn fe 8 & < m s 2

+
+ —
/\ Q @ ( ;
I 11 I11 v
(1) I (2) 1II
(3) 111 1) IV

Options :

92090619801. 1
92090619802. 2
92090619803. 3
92090619804. 4

Question Number : 52 Question Id : 9209065010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The triangular coordinates for three - component aystem is given as

The mole fractions of x4, xB and xC for point e are :

(1) 0.10 0.20 0.70

(2) 0.20 0.40 0.40

(3 020 0.75 0.05

(4) 0.25 0.25 0.50
Options :

92090619805. 1
92090619806. 2
92090619807. 3
92090619808. 4

Question Number : 52 Question Id : 9209065010 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i T2F 73 & fau fiwni s o e o g

0.2 0.8

x, 0.4 0.8

0.6 " S

0.8 /\/\e/ 02
1.0 C W B 0.0

0.0 0.2 0.4 0.6 0.8 1.0

ﬁ%ﬂ%%{! x4, xB 991 xC Wﬂ?‘lﬁﬁl%l

(1) 010 0.20 0.70
(2 020 0.40 0.40
(3 020 0.75 0.05
(4 025 0.25 0.50

Options :

92090619805.
92090619806.
92090619807.
92090619808.

AW N —

Question Number : 53 Question Id : 9209065011 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: No Is Question Mandatory : No Calculator : None

: No Is Question Mandatory : No Calculator : None

The number of phases in a system when calcium carbonate undergoes thermal decomposition

(1) 0 2 1
(3 2 @ 3

Options :

92090619809. 1
92090619810. 2
92090619811. 3



92090619812 4

Question Number : 53 Question Id : 9209065011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 73 § 59 Fouad FEHE F AN AT A 7 Al T T 2

(1) 0 2 1
(3) 2 4 3

Options :

92090619809. 1
92090619810. 2
92090619811. 3
92090619812. 4

Question Number : 54 Question Id : 9209065012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which of the following reactions H,0, is not an oxidising agent?

(1) 2 FeCl, + H,0, + 2HC] — FeCl, + 2H,0
(2) Cl, +H,0, - 2HCI+ O,
(3) H,S0, +H,0, - H,S0, +H,0
(4) 2HI+H,0, - 2H,0+1,
Options :
92090619813. 1
92090619814. 2

92090619815. 3
92090619816. 4

Question Number : 54 Question Id : 9209065012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr= 1 & = @ sfufen § H,0, © sifedians 7= 27

(1) 2 FeCl, + H,O, + 2HCl — Fe(l, + 2H,0
(2) Cl, +H,0, — 2HC1+ 0O,

(3) H.S0; + H,0, - H,50, + H,0

(4) 2HI+H.,0, — 2H,0+1,

Options :

92090619813. 1
92090619814. 2
92090619815. 3
92090619816. 4

Question Number : 55 Question Id : 9209065013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the incorrect statement regarding pyridine from the following

(1) Pyridine is less basic than pyrrole
(2) All carbon-carbon bond lengths in pyridine are of equal length
(3 Pyridine has resonance energy of 125.5 k Jmol™!

(4) All atoms in pyridine are sp®hybridized

Options :
92090619817. 1



92090619818. 2
92090619819. 3
92090619820. 4

Question Number : 55 Question Id : 9209065013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 4 # ffidim @ wefom Tem F4 F1 e

(1) TR oem 3 =0 aE R

(2)  THiER A wfi FwEA-wET 79 & TEE e a2
(@  TiER § e F91 125.5 kdmol ! 21

()  frlidm § aft o ep HeiE FW E

Options :

92090619817. 1
92090619818. 2
92090619819. 3
92090619820. 4

Question Number : 56 Question Id : 9209065014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following will not follow the Effective Atomic Number rule?

(1)  [Mn(CO)] (2 Co,(CO),
(3)  Rh,(CO),Cl, () Ni(PF),

Options :

92090619821. 1
92090619822. 2
92090619823. 3
92090619824. 4

Question Number : 56 Question Id : 9209065014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= § ¥ wF m e anfoass den fam = aeE T8 e e

(1)  [Mn(CO)] (2)  Co,(CO),
(3)  Rh,(CO),CL, (4) Ni(PE,),
Options :

92090619821. 1
92090619822. 2
92090619823. 3
92090619824 4

Question Number : 57 Question Id : 9209065015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) @ Order and molecularity are same.
Reasons (R) : Order is determined experimentally and molecularity is the sum of the

stoichiometrie coefficient of rate determining elementary step.

In the light of the above statements, choose the mos! appropriote answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct
4 (A) 18 not correct but (K) 1s correct
Options :
92090619825. 1
92090619826. 2

92090619827. 3
92090619828. 4

Question Number : 57 Question Id : 9209065015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1 21 wyA fou mu # ; w Al (Assertion (A)) % ®9 4 fofea # a1 g@ 38 10 (Reasons
(R)F&TH :

SR (A) wife T snfawar ®9E W 21

A (R) - wife =1 i yEifis g & 9w snfvasa wafis sfafEn § am 9 9= a0
TaifE % wisfwiiud s =1 e g 2

IR Y F A °, A fou T e 8 § w6 I w1 9 Fifan

() (&) 3 (R) I 7 & 1 (R), (A) = &8 =men 7

(20 () 3R @) A T E, A (R), (A) FHE = 1@ e
() (A)FA B, AfEA (R) 3780 7

(1) (A) ¥EE 2, Wl (R) 99 &

Options :

92090619825. 1
92090619826. 2
92090619827. 3
92090619828. 4

Question Number : 58 Question Id : 9209065016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following compounds gives only one peak in the proton NMR?

OCH,
0

(M )‘L (2)
OH
OCH,
NH,
0
(3) (4) @i
NH,

Options :

92090619829. 1
92090619830. 2
92090619831. 3
92090619832. 4

Question Number : 58 Question Id : 9209065016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fre 4 & == m i, 919 NMR 1, Fa 0% G 21 27

OCH,
8]
(1) (2)
OH
OCH,
NH,
0
(3) (4)
NH

Options :

92090619829. 1
92090619830. 2
92090619831. 3
92090619832. 4

Question Number : 59 Question Id : 9209065017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factors affects the magnitude of crystal field splitting (A)?

(A) Oxidation state of metal ion

(B) Coordination number of metal ion

() EN of the donor atom of ligand

(D) Position of metal ion in d block

Choose the correct option :

(1) (A) and (B) only (2) (C)and (D) only

(3 (A), (B) and (C) only (4) (A, (B), (C) and (D)

Options :

92090619833. 1
92090619834. 2
92090619835. 3
92090619836. 4

Question Number : 59 Question Id : 9209065017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 4 & =97 9 = e 87 Tz (A) 5 im0 wnfam % 8
(A) O HEA H AR AT
(B) g @A @ #9ad JE&

(C) Temve % g g & fergasomE
(D) d =T H =g A 6 Eaf

= feu o el § | wE I w1 999 Hifa
(1) =4 (A) 71 (B)

() %= (C) 791 (D)

(3) = (A), (B) 741 (C)

(9 F=E (A). (B), (C) 71 (D)

Options :

92090619833. 1
92090619834. 2
92090619835. 3
92090619836. 4

Question Number : 60 Question Id : 9209065018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given the following standard reduction potentials :
Sn!* +2 —»S8n** E =013V

AgT+e” = Ag E =080 V

The value of AG" for the reaction is :
2Ag"(ag)+Sn** (agq) — 2Ag(s) + Sn'* (aq)

(1) —13%x105J (2) 13x10%J
(3) —0.65x10°J (4) +0.65% 105

Options :
92090619837. 1
92090619838. 2



92090619839. 3
92090619840. 4

Question Number : 60 Question Id : 9209065018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Friefian o sv=ga fave few o #)

Sn'* +2” = 8Sn™ E =013V
Ag +e o Ag E =080 V
wftE & o AG &1 9M 2

2Ag (aq) + Sn* (aq)— 2Ag(s)+Sn**(ag)
(1) —-1.3x10%J (2) 1L3x109J
(3 0.65x10°J (1) +0.65x1054

Options :

92090619837. 1
92090619838. 2
92090619839. 3
92090619840. 4

Question Number : 61 Question Id : 9209065019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The activity of ‘m’ molar CuS0. solution can be expressed in terms of its mean activity

coefficient
(A) my?
(B) am’yl

() 16m'y!
(D) 108 m"° /‘

Choose the correct answer from the options given below:

(1) (A) only (2) (B)only
(3 (C) only (4) (D) only
Options :

92090619841. 1
92090619842. 2
92090619843. 3
92090619844. 4

Question Number : 61 Question Id : 9209065019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘w’ TER CuS0s fomem i wfFa =1 wwh sitwa afwaa s =+ win § sfem = w6 &
(A) mz;hf

(B) 4my}

() 16m'y}

D) 108m™

Fr= om0 fasedi § 8 |E I #1999 i
(1) A (A)
2) ¥ (B)
(3  FEa (O
4) FEA (D)

Options :

92090619841. 1
92090619842. 2
92090619843. 3
92090619844. 4

Question Number : 62 Question Id : 9209065020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be A and B in the following reaction?

3XeF, +6H,0 — A+ B+ 12 HF + 'L—‘_:og

(1) A =Xe0, and B=2Xe0, (2) A=2Xe and B=ZXe(,
(3) A=2Xe and B=Xe0, (4) A=Xe,0 and B=XeO,
Options :

92090619845. 1
92090619846. 2
92090619847. 3
92090619848. 4

Question Number : 62 Question Id : 9209065020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

frferfiaa sifufean § A qen B 2

8XeF, +6H,0 > A+ B+ 12 HF + 20,

(1) A =Xe0, 71 B=2Xe0, (2) A=2Xe 7 B=Xe(,
(3) A =2Xe 7 B=Xe0, (4) A =ZXe,0 T4 B=Xe0,
Options :

92090619845. 1
92090619846. 2
92090619847. 3
92090619848. 4

Question Number : 63 Question Id : 9209065021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify, which of the following is not the product of the given compound when it is subjected
to Hoffmann's exhaustive methylation-elimination reaction using CH,I

\AI/\/\\ |
(1) @ SN TSN

s W

® \/\/\/\\/ll\ @
Options :
92090619849. 1
92090619850. 2
92090619851. 3
92090619852. 4

Question Number : 63 Question Id : 9209065021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE=TE, fe A 8w w e W A W e 7@ @ 9 s CHLL & IR S EAE /RO
(g Afufeemm faeimm srfafmn 6w 2

B NN @

Options :

92090619849. 1
92090619850. 2
92090619851. 3
92090619852. 4

Question Number : 64 Question Id : 9209065022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scope of Ellingham plots for metal oxides and carbon monoxide formation from elements are

respectively
(1) Positive and negative
(2) Positive and positive

(3) Negative and positive

(4) Negative and Negative



Options :

92090619853. 1
92090619854 2
92090619855. 3
92090619856. 4

Question Number : 64 Question Id : 9209065022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

del & @ gU AT U1 ATEEES qU1 HiEA AH1 AR % o ofee se w5 R )

(1) HqTeH=h -1 RMeH (2) YATHsS 9YT Y4TeHh
(3) HUMeHh dT HHS (4) RWTTH dY1 M
Options :

92090619853. 1
92090619854 2
92090619855. 3
92090619856. 4

Question Number : 65 Question Id : 9209065023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following compounds, which one is used as Hinsberg reagent for identification of
1%, 2° and 3° amines?

(1) Acetyl chloride (2) Benzoyl chloride
(3) Benzenelsulphonyl chloride (4) Benzylchloride
Options :

92090619857. 1
92090619858. 2
92090619859. 3
92090619860. 4

Question Number : 65 Question Id : 9209065023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafefign Al 4, S @ 10, 2° a9 3° 0 1 95=H & o et afieds € ®e w@m s 2l

(1) Ul #=ss (2) =R FOEE
@  afaremestE wrEs (4) wfFae F=Es
Options :

92090619857. 1
92090619858. 2
92090619859. 3
92090619860. 4

Question Number : 66 Question Id : 9209065024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following photophysical processes are non-radiative?

(A) Internal conversion
(B) Inter system crossing
(C) Fluorescence
(1) Phosphorescence
Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only {4) (A) and (C) only
Options :
92090619861. 1
92090619862. 2
92090619863. 3
92090619864. 4

Question Number : 66 Question Id : 9209065024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f= 1 3 =0 =yt afen sfafeod 2
(A)  HAAE T

B) = o wiEm

(©  wiedfa

D) wpEw

Fr= fom o fashedi € § ®E I &1 999 i
(1) A (A) T (B)
(2) e (B) 74 (C)
(3)  Fad (C) 7 (D)

(4) e (A) T (C)
Options :
92090619861. 1
92090619862. 2
92090619863. 3
92090619864. 4

Question Number : 67 Question Id : 9209065025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List IT
(A) Tungsten (1) 5;’] 2 g2
(B) Actinide (I s
(C)  Alkali metal (I 25" 2p°
(D)  Most electronegative element av)y 47541 6s*

Choose the correct answer from the options given below :

(1) (A, (B)-(D). (C)-(IV), (I-(IT)
2) (A)-(IV), (B)-(T), (C)-(1D), (D)-(I11)
(3 (A)D). (B)-(IV), (C)-(I1D), (I)-(IT)
(4 (A)(IV), (B)-(D), (C)-(I1I), (I)-(1T)

Options :
92090619865. 1



92090619866. 2
92090619867. 3
92090619868. 4

Question Number : 67 Question Id : 9209065025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % A H-11 1 T Aife

Eeil I
&) W @ 57
(B) ufFzrss I ns'
Gy, Wy (D 25°2p°
(D) wa8 fers fogeoh = av) 4f"5d"6s’

F= o fampedi 1 & & I F =4 St

(1) (A)-(I1T), (B)-(I), (C)-(IV), (D)-(IT)
(4] (A)-(IV), (B)-(1), (C)-(II), (D)-(I1I)
(3) (A)-(T), (B)-(IV), (C)-(11T), (D)~(IT)
(4) (A)-(IV), (B)-(I), (C)-(III), (D)-(IT}

Options :

92090619865. 1
92090619866. 2
92090619867. 3
92090619868. 4

Question Number : 68 Question Id : 9209065026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following compound represent the correct structure of (2R, 35)-2,3-pentanediol?

OH

=
L=

H

(1) (2)

OH
OH

OH

o
==}

(3) 4)

[1Hne

=
=
=]
=]

Options :

92090619869. 1
92090619870. 2
92090619871. 3
92090619872. 4

Question Number : 68 Question Id : 9209065026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr= & = W@ (2R, 38)-2.3- YAEETe 6 ga gt & e g

OH HH

(1) (2)
OH OH

OH

]| g

(3) (4)

i

=]
=
=)
o

Options :

92090619869. 1
92090619870. 2
92090619871. 3
92090619872. 4

Question Number : 69 Question Id : 9209065027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arachno and nido structure of Boranes have general formula respectively

(y  [BH,] and BH,,_, (2 B,H,.,and [BH "

(3) B.H, .,and BH_, (49 BH,_,and BH

n+6
Options :

92090619873. 1
92090619874 2
92090619875. 3
92090619876. 4

Question Number : 69 Question Id : 9209065027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FTE 1 A T4 A2 F= F 5 5 EE 2

(1) [B,H,]* @41 B, H,,,. (2) B,H,, &1 [BH, "
(‘ID Ban—|3 a=n Banr: (4} BnHI)fl = BnHmﬂ
Options :

92090619873. 1
92090619874 2
92090619875. 3
92090619876. 4

Question Number : 70 Question Id : 9209065028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In an experiment to determine the quantum yield of a photochemical reaction, the absorbing
substance was exposed to 500 nm light from a 100 W source for 3000 s, with 80% of the
incident light being absorbed. If 0.40 mol of the absorbing substance was decomposed, then
the primary quantum yield is

(1) 0.65 (2) 040

(® 0.80 (4)  0.36

Options :

92090619877. 1
92090619878. 2
92090619879. 3
92090619880. 4

Question Number : 70 Question Id : 9209065028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T W TEE S AfalE S e wfen o a1 % e o sEe 9 3000 398 % oo
100 W = &1 & 500 nm & T & T096 H o7 791, FA9fad 96 80% guid & mwn afe s
= W 0.40 T farafen & mn, 78 myfirs = wfE &

(1) 065 (2) 0.40
(3 080 (4) 0.36

Options :

92090619877. 1
92090619878. 2
92090619879. 3
92090619880. 4

Question Number : 71 Question Id : 9209065029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Phenylbenzoate can be prepared from phenol using which of the following name reaction?

(1) Schotten Baumann reaction (2) Fries Rearrangement

(3) (Claisen Rearrangement (4) Hauben-Hoesch reaction

Options :

92090619881. 1
92090619882. 2
92090619883. 3
92090619884. 4

Question Number : 71 Question Id : 9209065029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e B=sivg, HiATE @ ®E = A sl w1 39 ek S S HEd £

(1) =iea gum wfafwEn (2)  wrga pHa=mE
(3)  Fe HieE (4) EieA g sthifen

Options :

92090619881. 1
92090619882. 2
92090619883. 3
92090619884. 4

Question Number : 72 Question Id : 9209065030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is splitting pattern of NMR signals in increasing order of J in the following compound?

Br Br
Br
(1) Doublet followed by triplet (2) Triplet followed by doublet
(3) Singlet followed by doublet (4) Triplet followed by singlet

Options :

92090619885. 1
92090619886. 2
92090619887. 3
92090619888. 4

Question Number : 72 Question Id : 9209065030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frferfig difies & 5 % 90 %8 § NMR @1 faare (Rerdin ded) @0 gme

Br BT

Br
(1) == feueie (2) feuce saee
(3) fomwr s () Fode fore

Options :

92090619885. 1
92090619886. 2
92090619887. 3
92090619888. 4

Question Number : 73 Question Id : 9209065031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following assumption was not considered during the derivation of Langmuir
adsorption isotherm?

(1) The layer of the gas adsorbed on the solid surface is one molecule thick

(2) The adsorbed layer is uniform

(3) There is no attraction between the adjacent molecules

(4) The attraction between the adsorbent molecule is extremely large
Options :

92090619889. 1
92090619890. 2
92090619891. 3
92090619892. 4

Question Number : 73 Question Id : 9209065031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & #h ft wern Fmep sfbsiee ¥ sEwen % auy aftifea T 587

() 2@ % g8 W il i 6 qag v o 6@ a2
(2) sfunie gag w aaE 2

(3)  Frereadi smsit % g wE smedo = g d)

(1) i s & o s i g )

Options :

92090619889. 1
92090619890. 2
92090619891. 3
92090619892. 4

Question Number : 74 Question Id : 9209065032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following pair of electrons :

s

1' n'=3) l=la m,i,=1) rn,;:—l_% and n»=3, l=2, mz=1, I’n=+%

1 1
2, a=3,4d=2, my=-2 ., m, =—§ and n=3,1=2, m=-1, ms=—§

5 n=38,i=2, m=2, ms=+% and n=4, (=2, m;=2, m5=+%

The pair of electrons present in degenerate orbitals is/are

(1) Only 1 (2) Only 2
(3) Only 3 (4) Only 2 and 3
Options :

92090619893. 1
92090619894. 2
92090619895. 3
92090619896. 4

Question Number : 74 Question Id : 9209065032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraferfiga soreel & i W faar Hifsw

1. n=3,1=1,m=1, ms=+% and n=3,1=2, my=1, m =+%

s

2. n=3,1=2, mj=-2, m:,-:—% and n=3,1=2, m;=-1, m, =—%

1
3. n=3,I=2,m=2, ms=+% and n=4,1=2, m;=2, ms=+§

I HeTeh H IUFRA g & TH B

(1)  wad 1 (2) hadA 2
(3) et 3 (4) had 2 91 3

Options :

92090619893. 1
92090619894. 2
92090619895. 3
92090619896. 4

Question Number : 75 Question Id : 9209065033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The experimental magnetic moment (3.4 BM) of a hydrated salt of Eu® at 300 K is
significantly different from calculated value. The difference is due to (Given atomic number
of Eu = 63)

(1) Population of electrons at higher .J level(s) via thermal excitation

(2) Strong ligand field splitting of f-orbitals
(3) Large spin-orbit coupling constant

(4) Pairing of electrons in f-orbitals
Options :

92090619897. 1
92090619898. 2
92090619899. 3
92090619900. 4

Question Number : 75 Question Id : 9209065033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

300 Ffeed W Eu™ % Fci@ @@u w1 WA gEsE W0 (3.4 BM) T 9F | H5eE ' F
i #1 77 fima fores w001 27 (K. 1 &1 74w we@ = 63)

(1) i 399 % g 3= J T(s) W goEgEl S TEfse (population)

(2) T =ersh & vEa ooz &9 faoea

(3)  wfuE vEEv-FH g R

(4)  F F&7% & FoagH1 ® FoH

Options :
92090619897. 1



92090619898. 2
92090619899. 3
92090619900. 4

Question Number : 76 Question Id : 9209065034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the degree of dissociation of HF in 1 M aqueous solution. The value of K for the ionic
equilibrium HF == H"+F is 7.2 x 10

(1) 7.2 » 10* 2y 2.7=10
(3) 2.7 = 102 (4) 7.2x 10
Options :

92090619901. 1
92090619902. 2
92090619903. 3
92090619904. 4

Question Number : 76 Question Id : 9209065034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 M Fei faeem # HF & fageq &1 +ife g1 @msu) smafis ane
HF ——= H' +F & U K+ 97 7.2 x 10~ &I

(1) 7.2x 10 (2) 2.7x10
(3) 2.7x 102 (4) T2x10H

Options :

92090619901. 1
92090619902. 2
92090619903. 3
92090619904. 4

Question Number : 77 Question Id : 9209065035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Phenol derivatives can be prepared from corresponding chlorobenzene derivatives wvia
nueleophilie substitution reaction only when it contains

(1) Electron releasing groups (2) Electron withdrawing groups
(3) Electronically neutral groups (4) Reaction not possible
Options :

92090619905. 1
92090619906. 2
92090619907. 3
92090619908. 4

Question Number : 77 Question Id : 9209065035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AR FE AR AR g0 e S § RIS % S AR W §9%d 8 94 48

T #
(1)  Zo@gH T 998 (2) TEFH ATE YR
(3)  ToEgHIEd JEEH AR (4)  wfafrn dva 74 2
Options :

92090619905. 1



92090619906. 2
92090619907. 3
92090619908. 4

Question Number : 78 Question Id : 9209065036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following mono nitrophenols which one 1z most acidic.

(1) o-Nitrophenol (2) p-Nitrophenol
(3) m-Nitrophenol (4)  All three isomers have same acidity
Options :

92090619909. 1
92090619910. 2
92090619911. 3
92090619912. 4

Question Number : 78 Question Id : 9209065036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefaa a1 TegdbaT § #17 @ sifas snelg 21

(1)  o-TEIEE (2)  p-ATEZrEHE
(3) m-TEEEE (4) @l 41 goEEE Tom s @ #
Options :

92090619909. 1
92090619910. 2
92090619911. 3
92090619912. 4

Question Number : 79 Question Id : 9209065037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the most common electronic transition(s) associated with carbonyl functional

group?

(A) o=

(B) a—n

(C) n—oasmT®

(D) rar*

(1 (A) and (D) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (B) only
Options :

92090619913. 1
92090619914 2
92090619915. 3
92090619916. 4

Question Number : 79 Question Id : 9209065037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e R e | geafim st g seEeE Hmen a9 R

(A) oo
(B) o —n
() n—osr*
(D) T T*

= feu o foedi § & w2 o w1 =79 Hifaw
(1)  Hae (A) aun (D)
(2)  Fa« (B)aw (O)
(3)  Fae (C) U (D)

(4)  Ee (A) a9 (B)

Options :

92090619913. 1
92090619914 2
92090619915. 3
92090619916. 4

Question Number : 80 Question Id : 9209065038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The structure of a carborane, C,B;H: is

(1) Seven vertex polyhedron, nido structure
(2) Six vertex polyhedron, closo structure
(3) Six vertex polyhedron, nido structure

(4) Seven vertex polyhedron, closo structure

Options :

92090619917. 1
92090619918. 2
92090619919. 3
92090619920. 4

Question Number : 80 Question Id : 9209065038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frer 4§ & wEsEia C,B,H, i 9= &1

(1) =4 3 =g, St Fe= (2) ®: ¥ FEHeTR, FeArE] HEAT
(%) o =i GEwes, A2 w0 (4) @ 3 FEHETH, T G
Options :

92090619917 1
92090619918. 2
92090619919. 3
92090619920. 4

Question Number : 81 Question Id : 9209065039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A first order reflection from the (111) planes of a cubic crystal was observed at a glancing
angle of 11.5° when X-rays of wavelength 151 pm were used. The length of the side of the
cryatal is (Given sin 11.5° = 0.199)

(1) 657 pm (2) TB6pm

(3) 379 pm (4) 752 pm

Options :

92090619921. 1
92090619922. 2
92090619923. 3
92090619924. 4

Question Number : 81 Question Id : 9209065039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A TR F (111) 99 § van FifE WEe 11.5° fdw s w fame & 5= 151 T
X-fammr = Tydm o = 21 fwem 4 v a2 (fem T sin 11.5° = 0.199)

(1) 657 pm (2) 786 pm
(3) 379 pm (4) 752 pm

Options :

92090619921. 1
92090619922. 2
92090619923. 3
92090619924. 4

Question Number : 82 Question Id : 9209065040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hydrolysis products of Al,C, and Be,C are

(1) Propyne, Methane (2) Methane, Methane
3 Propyne, Ethyne (4) Ethyne, Methane
Options :

92090619925. 1
92090619926. 2
92090619927. 3
92090619928. 4

Question Number : 82 Question Id : 9209065040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Al,C, T Be,C % 9@ WA H o918 &41 &

(1) ¥ @ foem, feie
(3) S, () ur, fd

Options :

92090619925. 1
92090619926. 2
92090619927. 3
92090619928. 4

Question Number : 83 Question Id : 9209065041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Addition reaction between Borazine (B,N,H, ) and HCI will produce

(1) N-chloro product (BH), (NHCI),
(2) B-chloro product (BHCI)(NH),
(3 Mixture of N— and B— chloro product
(4) Only hydrogenated product BN H,,
Options :
92090619929. 1
92090619930. 2

92090619931. 3
92090619932. 4

Question Number : 83 Question Id : 9209065041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FREE (BN H, ) 70 HC1 & &= arma shabem 3 33m

(1) N-¥=[ 3908 (BH), (NHCI), (2) B-FEAT I~ (BHCI),(NH),
(3) N0 B FR & faiE Iwmg (4) a9 EEEEHT I9E- B,NH,,

Options :

92090619929. 1
92090619930. 2
92090619931. 3
92090619932. 4

Question Number : 84 Question Id : 9209065042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other ig labelled as

Reason R.

Assertion (A) : Halogenation of 2-methyl propane gives (CHZ), CHCH,X (Minor) and
(CH,), C — X (Major) with chlorination giving a larger amount of minor

product then bromination.

Reasons (R) : Tertiary free radicals are more stable than primary ones.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4) (A) 18 false but (R) is true

Options :

92090619933. 1
92090619934. 2
92090619935. 3
92090619936. 4

Question Number : 84 Question Id : 9209065042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F= 7 = fou vk s (Assertion (A) F ¥9 § fafEw @ 1 250 395 FE0 (Reasons
(R))F=qH :

FhTFE (A) - 2-HfE W9 1 #|eEE (CH,), CHCHX (F=7) @2 (CH,), C — X (939) &M
2| T, g & sifas wmn | e aeE g 2

FF (R) - T o e Mg & At = Ee
I FYE & A °, = i T e § 3 59 30T I #1999 Sy

(1) (A) 3 (R) ZF1 W& & 3 (R), (A) i =61 = &
(@) (A) 3R (R) EH1 @6 E, |fE (R), (A) 1 =8 = 16 2
(3 (AT 2, T (R) T T R
(4 (&) FE 2, S (R) FE 2
Options :
92090619933. 1
92090619934 2

92090619935. 3
92090619936. 4

Question Number : 85 Question Id : 9209065043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The values of van't Hoff factors for NaCl, KC1 and K=80,, respectively are

(1) 1,1,% 2y 1,1,1
(3) 2,275 (4 2.2.3

[ ST ]

Options :

92090619937. 1
92090619938. 2
92090619939. 3
92090619940. 4

Question Number : 85 Question Id : 9209065043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NaCl, KCl a2t K280, % fore a2 &f 1ores sme: 2|

(1) 1,1.2 2y 1,31
(3) 2,22 4) 2,23
Options :

92090619937. 1
92090619938. 2
92090619939. 3
92090619940. 4

Question Number : 86 Question Id : 9209065044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When 3 moles of gas A is mixed with 1 mole of gas B at room temperature and 1 atm
pressure, the entropy of mixing is

(Given log 3= 04771,
log 4 = 0.6020)

(1 —18.70 JK! (2) +18.70 JK!
(3)  +4.65JK 4) —4.65JK"
Options :

92090619941. 1
92090619942. 2
92090619943. 3
92090619944. 4

Question Number : 86 Question Id : 9209065044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wE 3 U M A H | Wie E B % Wy W% A9 a9l 1 atm g9 W fufw v & fowo &
Tt 2

(feam 7T log 3 = 0.4771,
log 4 = 0.6020)

(1 ~18.70 JK* (2) +18.70 JK
(3  +4.65JK° (1) —465JK"
Options :

92090619941. 1
92090619942. 2
92090619943. 3
92090619944. 4

Question Number : 87 Question Id : 9209065045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last IT :

List I List IT
(Reaction) (Mettalo enzyme)
(A) R-H+0,+ 2H'+ 2¢” - R-OH+H,0 @)  Cytochrome P-450
(B) 2H,0, — 2H,0+ 0, (I} Catalase
(C) e transfer protein (III) Ferredoxin
(D) O,+4H" + 4e” — 2H,0 (IV) Cytochrome (oxidase)

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IL), (C)-(I1T). (D)-(IV)
@ (A)-(IV). (B)-(11), (C)-(T), M-(T)
(3 (A)-(I). (B)-(I1D), (C)-(ID), (D)-(IV)
(4) (A)-(IV), (B)-(1IT). (C)-(I1), (D)-(I)

Options :

92090619945. 1
92090619946. 2
92090619947. 3
92090619948. 4

Question Number : 87 Question Id : 9209065045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 F =7 -1 = e fifs

FA-1 -1
Afirfemar HemamEn
(A) R-H+0,+2H"+ 2 — R-OH+H,0 () HE®HM P-450
(B) 2H,0,— 2H,0+0, (I e
(C) e - TIEREY 9EA (I11) et
D) O,+4H'+4¢ — 2H,0 (IV) HTEEERE (i)

9 feu mu fomet § & E I o 999 i

(1) (A)-(I), (B)-(IL), (C)~(I1D), (D)-(IV)

(] (A)-(IV), (B)-(11), (C)-(III), (D)-(T)

(3) (A)-(D). (B)-(I1). (C)-(1L), (D)-(IV)

(4) (A)-(IV), (B)-(IIT), (C)-(1T), (M)-(T)
Options :

92090619945. 1
92090619946. 2
92090619947. 3
92090619948. 4

Question Number : 88 Question Id : 9209065046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the major product in the following reaction

H \/ Piperidine
—_——

\+<)ZN
0
(1)  (p-CH)C.H,CH,COOH (2) (p—CH,CH,CH,COEt
(3  (-CH)C,H,COOH ) (p—CH,)C,H,CH=C(NO)(CO:EH)

Options :

92090619949. 1
92090619950. 2
92090619951. 3
92090619952. 4

Question Number : 88 Question Id : 9209065046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frferian sfufen 4 7@ 309 &1 TEET
H \/ T
\+ 0:N:
0
(1)  (p—CH,)C,H,CH,COOH (2) (p—CH,)C,H CH,COEt
(3 (p—CHC.H,COOH (4) (p—CH,)CH,CH=C(NO:)(CO:Et)
Options :

92090619949. 1
92090619950. 2



92090619951. 3
92090619952 4

Question Number : 89 Question Id : 9209065047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the major product in the following reaction

/ \ +(CH,C0),0 Sodium ethanoate
o CHO
(1) 2 —(a -Furyl)-aerylic acid (2) 3-(a -Furyl)-acrylic acid
(3) 2 —(f -Furyl)-acrylic acid (4)  3-(p-Furyl)-acrylic acid
Options :

92090619953. 1
92090619954. 2
92090619955. 3
92090619956. 4

Question Number : 89 Question Id : 9209065047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefefiga srfufsn & ger seme =1 weefn
+(CH,C0),0
& CHO
() 2-(a-FRe)-wfweds s (2) 3 (a ) ufefs s
(3 2-(p-HfE) el s ) 3-(p-wfe)-ufrefts s

Options :

92090619953. 1
92090619954. 2
92090619955. 3
92090619956. 4

Question Number : 90 Question Id : 9209065048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A state (n,, n,) for a particle in a rectangular box with sides of length L, =L and L, =2L
that is aceidentally degenerate with the state (4, 4) is

(1 m=2;n,=8 (2) n,=8;n,=2

3 m=4;:n,=6 4 n=2:n,=2

Options :

92090619957. 1
92090619958. 2
92090619959. 3
92090619960. 4

Question Number : 90 Question Id : 9209065048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T U F T (0, n,) FEEEE, A E EA A (4, 4) FEEH F WY WIEL B GE L, = L a9
L, = 2L @ER & il % Aaasn 9198 1 2

(1) m=2n,=8 2y m=8:n,=2
(3) m=4;n,=6 4) n=2;n,=2
Options :

92090619957. 1
92090619958. 2
92090619959. 3
92090619960. 4

Question Number : 91 Question Id : 9209065049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When chromite ore (A) is fused with sodium carbonate in excess of air and the product is
dissolved in water, a yellow solution of compound (B) is obtained. On treating B with
sulphuric acid, compound (C) can be crystallized from the solution. When compound (C) is
treated with KCI, orange crystals of compound (D) erystallise out. Identify A and D.

(1) PbCr0O,. K,CrO, (2) PbCrO,, K,Cr,0,
(3)  FeCr0,, K,CrO, (1) FeCr0,, K,Cr0.

Options :

92090619961. 1
92090619962. 2
92090619963. 3
92090619964. 4

Question Number : 91 Question Id : 9209065049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 FUEZ W (A) 99 F ww § Hiigan wEFE % A1 Taear § a0 0 w9 § fTem g
& Aifis (B) 1 fien fawa wm #2199 (B) 1 "erie 3 & g sfaten w0 E 9 e
7 dif (C) % fFea 30 #9681 7= @i (O) = KC1 % =1y sifafen s & & 9ifs (D) &
Araft e faed 81 A 991 B =1 qE=

(1)  PbCrO,, K,CrO, (2) PbCr0,, K,Cr,0.
(3)  FeCr,0,, K,CrO, (4)  FeCr,0,, K,Cr,0,

Options :

92090619961. 1
92090619962. 2
92090619963. 3
92090619964. 4

Question Number : 92 Question Id : 9209065050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solution containing 2.44 g of a solute dissolved in 75 g of water boils at 100.413°C
Caleulate the molar mass of the solute

K, for water = 0.52 K kg mol™

(1 409.6 g mol™ (2) 4096 g mol™
(3 4096 g mol™ (4)  4.096 g mol™
Options :

92090619965. 1
92090619966. 2
92090619967. 3
92090619968. 4



Question Number : 92 Question Id : 9209065050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= Ao H 2.44 ¢ faom 75 ¢ 99§ IO # 991 98 SEE 100.413°C 919 W 3=aW 81 fFew & weR
Zea &1 o Fife)

= % fau K, = 0.52 K kg mol”

(1) 409.6 g mol™ (2)  40.96 g mol™
(3 4096 g mol™ (4)  4.096 g mol”

Options :

92090619965. 1
92090619966. 2
92090619967. 3
92090619968. 4

Question Number : 93 Question Id : 9209065051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Terpenes are polyisoprenes with formulae (CsHs)o. The value of n 18 used
to determine the types in terpenes as mono, di, tri ete.

Reasons (R) : Terpenes are made up of the arrangement of 2-methyl-1,3-butadiene units

in head to tail manner.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

() Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4 (A) 1s false but (R) is true

Options :

92090619969. 1
92090619970. 2
92090619971. 3
92090619972. 4

Question Number : 93 Question Id : 9209065051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H= 31w ﬁﬂ’, ‘qu : T wfiRa {Assertion (A)) %+ =9 1 fafEa _a Gl T FHF FAO (Reasons

AR (A) (C:H,), 33 % =y 20iF FgAEEE B 20dH o & 99 961, 26, 71 A0
wERT & Tt § 3w @ 2

FA (R) : TfF 2-Hfae-1,3-=qErer =E F 7§ wfm i o | 2

T FUYA F T °, A= g fawmeti § 8 799 I I H 99 dian

(1) (&) 3 (R) ZHT 7l # 3 (R), (A) =i 9 = &
(20 (A) Ao (R) A wEE, SR (R), (A) I HE e 16 R
(3 (A) T 2, FlE (R) T T R
(4) (AW T B, A (R) FE 2
Options :
92090619969. 1
92090619970. 2

92090619971. 3
92090619972. 4

Question Number : 94 Question Id : 9209065052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relative order of stability of conformers of 1,3-dimethyleyclohexane is (equatorial - e,

axial-a)

(1) e e>ea=ae>a,a (2) aazea =ae>ee

(3) e, e>aa>ea=a4ae (4) ea=ae>aa>ee
Options :

92090619973. 1
92090619974. 2
92090619975. 3
92090619976. 4

Question Number : 94 Question Id : 9209065052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1,3-SEATYS HETEF0T & SE90 1 TEeE % g HA (FEeiEH-e UEeEad a) Bl

(1) e e>ea=ae>aa () a,a>e,a =a,e>ee

(3) e,e>a,a>ea=a.e (4) ea=ae>aa>ee

Options :

92090619973. 1
92090619974 2
92090619975. 3
92090619976. 4

Question Number : 95 Question Id : 9209065053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Considering the following reactions and their reduction potentials in acidic medium
2

- , 1V :
IOL_ +1.65 103— +1.34 HOI +1.44 ;_12 +0.54
I

+0.99

What will be the free energy change (AG) of the reaction. 10; — %Iz

(1) -357F (2) —-476F
(3) -539F (4) —-680F
Options :

92090619977. 1
92090619978. 2
92090619979. 3
92090619980. 4

Question Number : 95 Question Id : 9209065053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefafan wfafea 7o w9 i mem § s fam =m0

o v
10 Lu +1.65 I{}-g_ +1.34 HOI Hl 44 o L +0.54 T
o I
+0.99
10; —>:‘12-I._J % for wem = uieda =0 &me
() -357F (2) -476F
(3) -539F 4 —-680F

Options :

92090619977. 1
92090619978. 2
92090619979. 3
92090619980. 4

Question Number : 96 Question Id : 9209065054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : N:is isoelectronic with CO

Statement [1 : N:is significantly poorer o — donor than CO.

Choose the correct answer from the options given below:

(1 Both Statement [ and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true and Statement 11 is false

(4) Statement I is false and Statement IT is true
Options :
92090619981. 1
92090619982. 2
92090619983. 3



92090619984. 4

Question Number : 96 Question Id : 9209065054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fa g weR feu U E

F1: Nz CO F ouseaeH 2

FEIL: No COH 30 o -2 2
IR HYA F A 4, A= fow m fawmeni § @ A998 30w I W 9w i

(1) A 13 8 &0 &
@) w13 1 3E sm 8
(3) FEF 19 R, Al w9 1 59 2
(4) TR 1 9EE 7, ST e 19 R
Options :
92090619981. 1
92090619982. 2

92090619983. 3
92090619984. 4

Question Number : 97 Question Id : 9209065055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the following reaction :
N,(g)+3H,(g) =—= 2NH;(g)

The free energy changes at 25°C and 35°C are —33.089 and —28.018 kJ respectively. The heat
of the reaction is

(1) +184.20 kJ (2) -184.20kJ
(3) - 33.089 kJ (4)  +33.089 kJ
Options :

92090619985. 1
92090619986. 2
92090619987. 3
92090619988. 4

Question Number : 97 Question Id : 9209065055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frferfiaa afafean % fag

N.(g)+3H,(g) = 2NH,(g)

25°C 91 35°C T Yo FHelt i A —33.080 991 —28.018 kJ &1 atfufsrn 6t F=m 3

(1) + 184.20 kJ (2) -184.20kJ
(3) —33.089 k.J (4) +33.089 kJ
Options :

92090619985. 1
92090619986. 2
92090619987. 3
92090619988. 4



Question Number : 98 Question Id : 9209065056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A monochromatic radiation i1s incident on a solution of 0.05 molar concentration of an
absorbing substance. The intensity of the radiation is reduced to one fourth of the initial
value after passing through 10 em length of the solution. Calculate the molar extinetion
coefficient of the substance.

(1) 12.04 dm® mol™ em™ (2) 1.204 dm® mol™? em™

(3)  120.4 dm® mol™ em™ (4) 1204 em™ mol™

Options :

92090619989. 1
92090619990. 2
92090619991. 3
92090619992. 4

Question Number : 98 Question Id : 9209065056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s uaell fafrm v sawifya werl % 0.05 e grgar & faerm @ e 21 fafeo 6 dea faemm
% 10 cm TS T WATE h ATg WS W # U erd w6 8 S 21 ugred & der faerm e 6

o shifau

(1) 12.04 dm” mol™ em™ (2) 1.204 dm® mol™ em™

(3) 120.4 dm® mol™' em™ (4) 1204 em™ mol™
Options :

92090619989. 1
92090619990. 2
92090619991. 3
92090619992. 4

Question Number : 99 Question Id : 9209065057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample was excited by 4358 A line of mercury. A Raman line was observed at 4447 A.

Calculate Raman Shift in em™.

(1) 435.8 cm™ (2) 4600 cm™
(3) 46 em™ (4) 460 cm™

Options :

92090619993. 1
92090619994. 2
92090619995. 3
92090619996. 4

Question Number : 99 Question Id : 9209065057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF T 9RE % 4358 A FEA (W) g0 Thaa R W W UE T @R 4447 A T AW 26 R
I F T foree & o Sif
(1) 435.8 Infi (2) 4600 T
(3) 463 (4) 460 FH
Options :
92090619993. 1

92090619994. 2
92090619995. 3



92090619996. 4

Question Number : 100 Question Id : 9209065058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 1nitial rate of a reaction in which the substrate, S, undergoes a reaction in the presence
#a[S[Cla

of catalyst C, was found to be equal to v, =—=—"-"L_ The probable condition in which the
[S], + Km

reaction took place was

(1) [Cly==[8], (2)  [Clo>>[8]

(3) [C]e = [8]s (4) Insufficient information

Options :

92090619997. 1
92090619998. 2
92090619999. 3
92090620000. 4

Question Number : 100 Question Id : 9209065058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T e S 33 C 1 el § siffear 2m 21 sl B TR @ o, = 2dSblCh 3

" [8], + Km
T 8| Heriea feufa fomd sfufrmgg 2, = &
(1) [Cly == [S]y 2 [Cly==[8]y
(3) [Cls = [8] (4)  angh g=m

Options :

92090619997. 1
92090619998. 2
92090619999. 3
92090620000. 4



